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Sidleyeoraet : (1) A@marsg 6lanmés e glursl udeurd o drersm GranUgmans
gAUTT&gE QETATETa|D. wssiudela @apulmudea, ADDS
samsraluureriiLD o Langwnss Asfelssen.

2 Beob @@y SMHUY wb@oar bLLHCL TFWHUSHEWL,

23 5CHTIg HeusnEGLD LweTLB&S CouamBd. UL RS YR VT Julc:)

Quendlé LweTuHSSaLD.

Check the question paper for fairness of printing. If there is any lack of tairness,

inform the Hall Supervisor immediately.

Instructions : (1)

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@&S - 1/PART -1

i) oSS Namésend@D oL wailésalb. 20x1=20

GIEEE
(i) Qar@ésiulGdrer HI6HE I et salld WHaD gHUeL W
eSenL_enwi CobOsHHSHIS GO HLaT el ufenaiid Geisg| 6T (RSHaLD.
Note : (i)  Answer all the questions.

11 Y o ‘ : 1ate ans ".') Y OV 9 .
(i) Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer,
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3 O § & @HE P(A) = 0
. . (n) ‘[f)]g,{_pq c
1. A wpmib B eremd Q
P(AB) -1 LI - | |
l \ - (FF) 7,
() 1 (<) 5 (@) 5
4

A : B)- . then P(ANB) is :
and B are such that P(A) = - and P(ANB) 5

If two events A

1 1 () L
1 L c 3
@ 5 ® 5 © 5

. . . . - o U > l;l :
52— 4y2=0 HOILD ¥ =2 6TEmD Car@aerme o (HelTdsUUHLD 1p&Caramgdlen LTUY

2 a2 (7F) ﬁaz
(<=1) %a: (=) 2a° (&) 73 5
The area of the triangle formed by the lines x2—4y*=0and x=ais:
2 0 NERY)
1 2 S N3
@ 52 () 222 © 7 @ e

3. A oppbd B Hu QO flapésleser AcB wHmib P(B)#0, eren @) (L4l o1

S emeumeuaeUDMIET 6T Glowlwimeg) ?

]
(1) P(A/B) = P(A) (=) PA/B) = 35
(@) P(A/B) > P(B) (/) P(A/B) < P(A)
If A and B are two events such that AcB and P(B)#0, then which of the following is
correct ?

_ P
(a) P(A/B) = P(A) ) FA/B=F5q
(c) P(A/B)>P(B) (d) P(A/B) < P(A)

d
8 y=f02+2) wpgid f/3)=5 arald, x=1 -0 I erang

(1) 15 ()5 (@) 10 (w) 25
If y=f(x*+2) and f'(3) =5, then % atx=11s:
(@) 15 (b) 5 (c) 10 (d) 25

kindly send me your key Answers to our email id - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.com

s lon Lol @iy

o) O
\~\l

(«2) 1o (@) 12 (rr) 18

Ihe value ot log 512 s
AN

@ v by  lo () 12 (d) 18
"\ tana

I\ N da
< S

1 . o 1 —— : N ]
() 5 Vianx +( (<) Jtanx + C (@) 4\/tnnx +C (/) 2Jtanx + C

ytana _
— . dyas:
Jain 2

1 . 1
(a) _vtanx +C (b) tanx + C (() Z\/lanx + C (dy 2 ltanx + C

(2. (52, (8 8) eranuen @ Gam_enol) LjaTelger eraflér, x - UL

1
(=) 1 (<) -3 (&) 3 (") 3
If the points (v, —2), (5, 2), (8, 8) are collinear, then x is equal to :
1
(@ 1 b -3 (© 3 (d) 3
S Y T e ﬁ,\mmﬂunmguﬁ]éﬂ Bg (8, —5) erenm LjeTefl o aTengy araflew, k -em
. loe 25
wHUY :
3) 2 (<4)0 (@) 3 () 1
2 l/2
. -us —— — 2— =k, then the value of k is :
If the point (8, —5) lies on the locus — =0 k, then the value ot k is
(@ 2 b) 0 (c) 3 (d) 1

9 f:[-3,3] =S erenm Fmy f(x)=x2 eTen QUEnTWIMIESHLILIL(H Gmﬁ)@&)n‘ﬁg@@ orafl,

S eTaTug)

(=1) [-3,3] (<) [-9 9] (@q) 0, 9] - (m) R
If the function f: [-3,3] =S defined by f(x) =2x=1s onto, then S is :

@ [-3,3] o [-99 (© 10, 9] @ R
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bk el e e Qasbi

10 B_/)\=3,'A+ 27A‘+/I:- LdHmLd B - & hlenev ©leud
A ’
x oA A _ y _ Y
(@) 47 (<o) 41+2] +h (@) —4i () 4i+5]
I S8
If 1;\ _ 37427 +k and the position vector of Bis | +3; _ 4, then the position vector Ais :
no_
@ 4 b 4i+2j+k  (© -4i (d) 4i+5]
sin(A—B) | sin(B—C) sin(C—A)
1. —— = + e
cosA cosB  cosBcosC  cosC cos
(=) 0 (<) sinA +sinB +sinC
(@) cosA +cosB+cosC (Fr) 1
sin(A—B) . sin(B—C) N sin(C—A) .
cosA cosB  cosBcosC  cosC cosA
(@ O (b) sinA +sinB +sinC
(c) cosA+cosB+cosC d 1
3—-x -6 .
12. |-6 3-x 3 |=0 ererp swerLmigerm @b Siey:
3 3 —-6—x
(=4) 0 (<) 6 (@) -6 () 3
3—x —6 3
A root of the equation | =6 3 —x 3 |=0is:
3 3 —-6-—x
(a) O (b) 6 (c) —6 (d) 3
i di
13. =S grafley —~ =
/ dx
(é{) sinyesinx (c‘%) e51’nx (@) cosxeSi“-" (IT) ECOSY
. dy
— pSINX th e A
If y=e en i
(a) sinxesinx (b)  esinx (C) cosyesiny (d) ECoSY
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14' HCO + HCI +

(<) 20! (<) 20 (@) 2! () 2n
"Cy+"C +...... +NC =

(d) onH | (b) mn (C) on-— 1 (d) 2n

15. ¢ Zeramm Qariflé 1 - Qe

—4 2 4 oy 2

(=) 15 (<) 3 (@) 15 (7). 3
The co-efficient of x° in the series e is:

3

—4 2 4 Q2

@ T3 ®) 5 © 15 d 3

]. d.\ o b.\ B
16. m — -
v —0 A

) e[}

o' |

o top(D] (@) togad @

a

X
a' —b

Iim —— =

r—0 X

a (d) log(ﬂ
(a) 10g(hj (b) logab © 3 b/
La

.. : . &@WD
: - o5 (@HiD 2 ETeTaT. SIS YL HSE
: i QUTHSSLLTES N ENETER - < T ES
17 0 LLORED SO  rppsan LS upsdla aEEmIEns
gredlger &l | (1)
() n(n+1) (@ ™ 2

(1) n(n—1)
hing keys If all the locks and keys ar¢ to be perfectly matched,
and n matchin ”

Y o) S : ‘o e
There are n lock bor of trials is :

then the maximum num
n(n+1)

(@) nn-1) ) nn+D) (@ n @ =

[ muus / Turn over
B
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7612
. sinx
18, lm —
x—oo X
0
(1) (<) (@) —~ ()
. sinx
lim —
X0 X
(a) = L) 1 () - (d) 0
AA A A A 5 . — - - : A
19. a=i+j+k, b=27+xj+k, c=i-j+4k wHOD a (b x c)=70 arefler x -em
&l
(1) 26 ()5 (&) 10 () 7
= A A A D AA A S A A &% - . 1 .
Ifa=i+j+k, b=2i+xj+k, c=i—j+4k and a - (b x ¢) =70 thenx is equal to:
(a) 26 (b) 5 (c) 10 d 7

20. n((AxB)N(AxC))=8 womibd n(BNC)=2 erafler, n(A) eraruig) :

(=4) 8 ()6 (&) 16 () 4
If n((AXB)n(AXxC))=8 and n(BNC)=2 then n(A) is :
(a) 8 (b) 6 (c) 16 (d) 4

L@ - 11/ PART - II

GOy : eremeuCGuenid g ellemmssEnsE ellaLwalssealb. ellamm aream 30 -&@
sL_Lmuwng e wefldseid. e

Note : Answer any seven questions. Question No. 30 is Compulsory.

1 . . : :
21. o+ %= g crafléd A -er gl eremen ?

1

1 _A
If 71 51~ Gy then find the value of A.

22. 3x+2y+9=0 0OYID 12x+ 8y —15=( oy Hwemes QenamGCaTHSET cTans & (Hs.
Show that the lines are 3y +2y+9=0 and 12x +8y—15=0 are parallel lines.
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. A= -1 2 sal@. A -a& vdlusus STETS
3 1 1
c‘---\ _%-. \: \\ 1 :
. o : ~ . - P . 3 .. 1 e
24. A LDNW b RETODLIWITSTN WVSEGLD ElaLOQgéﬂaam. P(A) = 8 wommiw P(B) = F GTEprieD
PA_B) -2& sravs

1 . - =
If A and B are mutuallv exclusive events P(A) = = and P(B) = a then find P(AUB).

|

- . . A ) A . = . . . .
25 a=3+4; LOMD b=i+j+k erafle, 1a><b\ -1 WEHUUS STaERs.
- - — A A — A A A
Find 2 xb ,where a=3i+4j and b=i+j+k.
26, ———— e ETTYET STTUSSENSS HTEBuS.
L —osmx '

1

F ainof ———5 .
ind the dom 1— Jsin~

27. (15— A) = L2 Gans TGS,
"1+ tanA
Sh o _ A= 1 — tanA
Show that tan(45°~ A)= 1 + tanA

28.

f(x)=xcosx erafled, [ &HTETS.

Find " if f(x) = xcosx.

[ &®ULs / Tum ove
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29. 5x246ay+y°=0 eam @rienr. GCrIGEHTL g6 5 el & & &'l CrrGan®seflen
FLOGTLTL_ L& &6
Find the separate equation of the pair of straight lines 5x? +6x.1/+.l/2= 0.

30. INDIA ereim euTTGenSHUIcd 2 6Tem T (PSHHIFENET 6T &g e 6 cuanssafles auflengis-
UBSSTD ?

Find the number of ways of arranging the letters of the word INDIA.

U@ - 111/ PART - 111
@Oy : aemeuBuenb e daméseErss@ ol wallssa)n. alearm eram 40 -&@&

SLLmuwons 6llenwetl&EsHeyLb. 7x3=21
Note : Answer any seven questions. Question No. 40 is Compulsory.
31. &(H&GS :
1 1 N 1 B 1 " 1
3-8 BB-V7 V7-V6 Je-5 5-2
Simplify :
1 1 1 1 1

-6 JB-v7 J-v6 Jo-o HB-2

32. 'LD@LHE]@B; :
Ixexdx
Evaluate :

Jxe"'dx

33. Gemeumb Gsrifler wge n e glyseilea mbse srams.
6+ 66 + 666 + 6666+ ...........
Compute the sum of first n terms of the series.

6+ 66+ 666+6666+...........

limx2—6x+5 ) . T
34. m B _grgo & wélUensd & :

. x2 —6x+5
Calculate : lim ——————
x=3 x7 —8x 4+ 7
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35. ¥ -BU QUTISSH UISGEIHHenaId & e,
y=xe'logy
Differentiate the following with respect to x.

= ypl :
y=xe'logx

36. "P,=720 wpmid "C, =120 eT@ldd, n, r -gF HTEHTS.
If "P,,=72O and "C_ =120 find n, r.

37. wdUy srews : cos105°.

Find the value of cos105°.

( );2+x—5 ;. xe(—=»,0)

x24+3x=2 ;  xe(3, ©)
38. f(x)=9

ox ;o xe(0, 2)

| x*-3 ;oD QL kigafle
cTem euenywmssULiger —3, 5,0 < Hweupiled f-e SHLILGDETS STams.

2 +x—5 if xe(—, 0)

) x24+3x=2 if  xe(5, )
) A 5 — i X)=
Write the values of fat —3, 5, 0 if 2 it xe(0, 2)

x2-3 otherwise

39. 20 -G +k, 30 —4]—ak, 1 =3] -5k Hu GasLiisd GO Qs Garnt (pEGSTERTHes
&G erans STLHS.

A . .
Show that the vectors 27 — ; + %, ?>iA~4/A'~ ak, i 3?—5’\' form a right angled triangle.

g0 CosMT sl ansee ran Hlmeys.
" cos11® — sinll”
Prove that :

cos11° — sinll”

[ $®UUS / Turn over
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u@& - 1V / PART - IV
GSDILILY : HNEDEVGEH NDdI&SEhHELD aflent wiafldbsmaid. 7x5=35

Note : Answer all the questions.

41. (@) uEd Yearamsarms! 9fléseaib, (—, 2"'( )
X+ 1) (x

D|6V6VG)
: ~1 : N : :
() y=e"" M aafile, (1+x2)y"+@2x— 1)y =0 erand &TL-(Hs.

2x

P4+ E-1)

(@) Resolve into partial fractions

OR
(b) If y=etan l", show that (1 +x2)y"+(2x—1)y‘ =0.

42. (=) ABCD eranip prpsrsdled AC, BD -a p(HiLyeraflser E wpmibd F -<5,6 @mUde,
—_— > > — —

AB+AD+CB+CD=4EF eran flma|s.
S| 6V60G)
(=) f Gemeumomm euapFumGSUIUL (HeTerg).
ST cosx ; x#0

="
| 2 : x=0

(

erem &y x =0 -@é CsrrFflurang) erensd srl(hs.

(a) If ABCD is a quadrilateral and E and F are the midpoints of AC and BD respectively

— > —> — —

then prove that AB+ AD+ CB+CD =4EF .

OR
{ SINX + cosY when 1 #0
(b) Let f(¥) =9 x
\ ) . when x=0

Show that f is continuous at y — 0.
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.

v ) ¥ b 16 25 IS
= logp2+ lolog o —— + 121og, 0, 71og o I 1 orent Blmyeys
15 24 80) o
9|6V6V G|

(<) 268 @ m Tl &afld, Qendle 6 S(mHUy womio 4 Seuliy Bimd Lbg&HeT o ereren
DEIDT®H Bmgufied 2 SMHuy whmid 2 Heuliy HIDL LBSISET 2_drerer. FLoeumiliy
pernuile em QMg CHTHOSHESSHILL ([ 2B BB @ UGS THEsILHEADS.
) Uk smUUTS QmULsHETaN B50ssmus Sramns,
W) rhssuuCL ubg sEUY erafld s Bruidlmbs THEsNL L BpETa
Baspssey wig ?

5
(@) Prove that log;g 2+16log 1—6 +12log g —i +7log1o % -

OR
(b)  There are two identical urns containing respectively 6 black ard 4 red balls, 2 black
and 2 red balls. An urn is chosen at random and a ball is drawn from it.
(1)  Find the probability that the ball is black.
(i)  If the ball is black, what is the probability that it is from the first urn ?

QR J‘ 3x +5 v
\\ i . ,’—_—— L
(<) wgud@s : )3 7 7

360608

(=) cot 7L | = 2+ 3 + VT + V6 aTans sramissayb.
N L2
3v +5

; . | 5———d¢
(a) Evaluate : '[.1" Ry

OR

(b) Shcmthatkot 1j_\/2+vq+\/'+\/—

\ =

(=) x m Comeuwurar jerellemes Quw erewr eTalle,

1
33 . GaTymuLre — cTa Hlmieys.
o =T e wfieus Cemmusts
S|6VEVG)

(<) f: R — Reremm &mmy f(x) — oy -3 T QUETWMIESILIG AT f@(h QHUNESTTL cTan

Blem G5, e Grrbrrmrrﬁ)‘lsmmaa &ITGH0T .

imately ec ual to 5 when x is suffici i
(a)  Prove that 21 \/\ 1 I approey ‘ l A uthuenﬂ?

large. OR

) Iff:R—>Ris defined by f(x)=2x—3, prove that fis a bijection and find its inverse.
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46. (=) Cruwfen @sHrsms s, HemAsseib.
{606V )
(<2) A? =100y +122 + 5~ 16y —3=0 erenig) e @rienl CrisCHT L GIEICY
eTafled
@ A - wdlliy whmid SafSHNF FOTUTHSHDETS 5T s,
@)  @euelp Car@adr Qeul Hib yereflepwd smetmrs;.
) Qm CarpsEnse Qe iUl L Caranmid &reirs.
(@) State and prove Napier’s Formula.

OR

(b)  If the equation Ax2— 10xy +12y? + 5x — 16y —3 =0 represents a pair of straight lines,
find :

(i)  The value of A and the separate equations of the lines.
(i)  Point of intersection of the lines.
(i) Angle between the lines.

17. (@) smranfis Cosppsens Lweru(hiss)
b+c a a2

c+a b b2 =@+b+c@=-b)(b-q
’a+b c c?

(€ = 2) eram Hmieys.

{060 g
(@) n=1 -dgg 32n+2_g, _g 2G| 8 -6 UEGBLRID TeTLens Hmicys.

b+ c a a2

(a)  Using Factor theorem, prove that [c+ a b b?| = (@+b+ ¢) (a — b) (b—0¢)(c— a)

a+b ¢ (2

OR
(b)  Prove that 32" *2—8n —9 is divisible by 8 for all n>1.

-00o0-
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